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B. A. 4th Semester (Honours) Examination, 2023 (CBCS)
Subject : Philosophy '
_ Course: CC-VIII
Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate Jull marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions of the followihg: 2x10=20
frfie @ @ mE o Ber we
(a) What is meant by ‘argument’?
e @e F @R
(b) What is class inclusion?
it sregfeae s e
(c) What is meant by distribution of a term in a proposition?
BT AT AT FeTCE B (R ?
(d) Give the definition of contradictory opposition.
e Rrafder sge we |
(¢) What is existential import of a proposition?
W WRGLET Sles 0T @RI
(f) What is standard form of categorical syllogism?
oW SR e W i e
(g) How is the figure of a categorical syllogism determined?
w5 fFrwers e g fera Fedfre 2
(h) Is the negation of a contingent statement form always contingent? Give reason for your answer.
mﬁwqﬁmmﬁmﬁsﬂmwﬁ%ﬁm?WMﬁw@m]
(1) What is formal proof of validity?
RS WFRNS 24 FF 0 ?
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() What is quantifier? What are its types?
sifertiers B AF e @ FosrwE e
(k) What is bound variable? Give an example.
TRUEE FE A7 9D Bwigdd e |
(I) What is meant by ‘instantiation’?
TREFAY TS B @R 2
(m) What is a unit-class?
aFF (M FE IEA?
(n) What is valid argument form?
34 Ifeq T e e
(0) What is a contradictory statement form?

FCOIWL I P A2

2. Answer any four questions of the following: 5%4=20

RS @ @ 5195 aa Tew we
(a) “No squares are circles."— Does this proposition have a contrary? Give reason for your answer.
I 9T T @I [ — B A5 efFe 25w 6 HEA 7 (oI Beraa HoArw g me |

(b) Explain the rule of categorical syllogism with the helps of a suitable example the violation
of which leads to the fallacy of the illicit minor.

fFravers i @ fraf wem s Stay TR @ o Seige Swmmemie iy |
(¢) Test the validity of the following syllogism by means of Venn diagrams:

There must be a strike at the factory, for there is a picket line there, and pickets are present
only at strikes.

ceaiban AR A i ey e Rer 39
W@mmﬁﬁnﬁﬁmaﬂwmmmwmmmammml

(d) Symbolise each of the following by using logical notations of propositional functions and
quantifications:

B2 2T AT AT € WS G2 I AT T 2
(1) Snake-bites are sometimes fatal.

FHofFeRia] ST T AT 27 |
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(i1) Oranges and mangoes are nutritious.

A G2 O 2 ST |
(1) Any girl is healthy, if she exercises regularly.

@ @i Al e =m, I & Fafresie T o=@ )

(e) The conversion by limitation is not considered as valid in the Boolean interpretation. Explain

the reason with the help of a suitable example.
T o1 AR AT e 9%l w9 28 7| $ogE Twgaerz @ e il |

(f) Explain the need of quantification theory.

Afsaee srer ArEARe Wi w0 |

3. Answer any rwo questions of the following: 10x2=20
frfEfe @ @ 7 sma Ten we
(a) Use truth-table to determine the validity of the following arguments: 545

el AR A eekE wee Bsm @

i (V- ~W)o X
WV ~X)
L~ (VW)
(i) B-C)>(D-E)
BV-~D
“~Co>~E

(b) Construct formal proof of validity for the following arguments: 5+5

57 el avem wre@sre omg e e ¢

i) To>@MU-V)
UvV)ow
S TE2W

(i) (3x) (Jx - Kx)
(x) (Jx o Lx)
L (3x) (Ex - Kx)
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(c) Determine the invalidity of the following arguments by the method of assigning truth values:
’ 5+5

wmmﬁw@ammﬁmq%@%a@mwﬁWWg

N S>(Tow
Vo (Wo X)
To>(V-WwW
~{T - X)
LSiEY

(i1) (3x) (Bx - ~ Cx)
(x) (Dx o ~ Cx)
<. (x) (Dx = Bx)
(d) State and explain the principle of Universal Generalization. 10
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